English Speaking Board (International) Ltd.

How Suitable?

SpaceX's Starship rocket starts a blaze in protected habitat
surrounding Starbase during static fire test

Totally Probably Unsure Probably Perfectly
unsuitable unsuitable suitable suitable

TfL security guard 'spontaneously' teams up for duet with
Cambridge University music director at station

Totally Probably Unsure Probably Perfectly
unsuitable unsuitable suitable suitable

Your choice of news item should:

U Be of ‘substance’.

U Be of suitable length and Discuss the headlines (or full
complexity to give you the articles) together and decide
opportunity to provide a full how suitable they would be
overview of the issues within a two for your assessment.
minute window.

U Allow you to explain and advocate Which would you choose
different viewpoints. from the two? Why?

U Capture your audience’s interest
and generate meaningful debate.

U Give opportunities for further
research.

Level 3 Certificate in Speech (Grade 8) @ESBUK ,


https://www.thetimes.co.uk/article/m-s-concedes-perfect-match-valentines-gifts-are-strikingly-similar-k99ww3fdg
https://www.thetimes.co.uk/article/fair-for-london-to-be-less-wealthy-in-order-to-level-up-say-voters-c5722rhcz
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How Suitable?

Climate change threatening buried UK treasures

Totally Probably Unsure Probably Perfectly
unsuitable unsuitable suitable suitable

Taylor Swift calls out Damon Albarn over songwriting comments

Totally Probably Unsure Probably Perfectly
unsuitable unsuitable suitable suitable

Your choice of news item should:

U Be of ‘substance’.

U Be of suitable length and Discuss the headlines (or full
complexity to give you the articles) together and decide
opportunity to provide a full how suitable they would be
overview of the issues within a two for your assessment.
minute window.

O Allow you to explain and advocate Which would you choose (if
different viewpoints. any) from the two? Why?

U Capture your audience’s interest
and generate meaningful debate.

U Give opportunities for further
research.

Level 3 Certificate in Speech (Grade 8) @ESBUK y


https://www.bbc.co.uk/news/science-environment-60091485
https://www.bbc.co.uk/news/entertainment-arts-60121132
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How Suitable?

I’'ve seen the metaverse — and | don’t want it

Totally Probably Unsure Probably Perfectly
unsuitable unsuitable suitable suitable

UN data reveals ‘nearly insurmountable’ scale of lost schooling
due to Covid

Totally Probably Unsure Probably Perfectly
unsuitable unsuitable suitable suitable

Your choice of news item should:

U Be of ‘substance’. Discuss the headlines (or full
U Be of suitable length and articles) together and decide
complexity to give you the how suitable they would be
opportunity to provide a full for your assessment.
overview of the issues within a two
minute window. Which would you choose (if
O Allow you to explain and advocate any) from the two? Why?

different viewpoints.
U Capture your audience’s interest
and generate meaningful debate.
U Give opportunities for further

research.
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https://www.theguardian.com/games/2022/jan/25/ive-seen-the-metaverse-and-i-dont-want-it
https://www.theguardian.com/global-development/2022/jan/25/un-data-reveals-nearly-insurmountable-scale-of-lost-schooling-due-to-covid



